1191

PRECISION SHOULDER BOLTS /SHOULDER BOLTS—BUSHING TYPE—

—L DIMENSION DESIGNATION TYPE—

SHOULDER BOLTS

® Non JIS material definition is listed on P.1351 - 1352

MSBL
De9 A|B|C|E|F MXP T
% 3 MXP
] - i 6.5 0025 10 4 125] 5 9| 5X08 |7
N H- o061 |13 513 6 9| 6X1.0 | 87
N iE H—1" 10 16| 64 8 | 12 [ 8X1.25[108
__Q 13 | —o032| 18 8 |5 10 | 16 [ 10X15 |14
c = kg 16 | —0075( 24 | 10 | 7 14 | 18 | 12X1.75 | 17
A E L+0.02 F 20 | —oo040| 27 | 14 |9 18 | 24 [ 16X2.0 |21
s 25 | —0092f 33 | 17 |11 19 | 30 | 20X25 | 26
[+
E [ SCM435 B Black Oxide (Only the head)
[ 30~35HRC
(Strength rank 10.9)
Part Number |1mm increments| U/Price |Slide Unit Price 7 ‘pan Number‘—‘ L ‘ R
Type D L 1~19 20~49 Order VESBL0 53 Example BE Right page
6.5 10~ 70
8 10~ 90
S (oo (W
MSBL[ 13 10~130 IQUOtatlon to Ship QUOtatlon
16 15~150 —
20 15~150 -
25 30~160 P rice  |Quotation
() No knurling on the head.
GZD | CsR
De9 di | d2 | d3 | MXP h | T | ¢
R1 MXP
D @ 10 [=8382%[ 10 | 15 | 6.3[M 6X1.0 6 5|10
- 13 | —oo32| 13 | 18 | 84 |M 8X1.25] 8 5] 15
3 Io“’ 16 | —0075[ 16 | 24 |10.6 |[M10X1.5 | 10 8| 22
20 | —go40| 18 | 28 |12.6 [M12X1.75| 12 | 10 | 20
25 | —00%2| 24 | 36 |16.8 |M16X2.0 | 16 | 13 | 27
32 | =898 30 | 45 |20.8|M20X2.5 | 20 | 16 | 34
=01 L @ [ Scm435 [ s45C
[=100] L[F0.03 1 @
Strength rank 12.9 [ 38~43HRC
L=110| L=%0.05 B Black Oxide (Fe304)
Part Number L U/Price
Type D 1~19
10 15 20 25 30 35 40 45 50
10 55 60 65 70 75 80
85 90 100
15 20 25 30 35 40 45 50
13 55 60 65 70 75 80
85 90 100110120
20 25 30 35 40 45 50 55 60 65 |
16 70 75 80 85 90 100110120 1S
130 140 150 1 O
160 170 180 =]
CSR 30 35 40 45 50 55 60 65 70 1@
20 75 80 85 90 100110120 | | =
130 140 150 160 1 ©
170 180 = |
40 45 50 55 60 65 70 75 80 || 0
25 85 90 100110120 |
130 140 150 160
170 180 200
60 70 80 90 100
32 110120 130
140 150 160
170 180 200,
[Part Number| [ L | (W) s 1 Pt~
Order CSR20 — 60 A Alterations CSR20 LC57.0
e | . @) [Guotation
iﬁltoémp |Quotation)
Alteration Code] Spec. 1Code
I EgtaineisL%iQTsion L altlfz_r'elt[ilo&(f@)o c =
: H ’ min.=| max. +0.! .1mm incrementt
P Price QUOtatlon |_(;L Set the bolt ccordaingtomeasurementsZbythecfo?Iov?linsgtable. 0
! - |Lc D |10 | 13 ] 16 | 20 | 25 | 32 T
=i LCmin. | 10.1 | 10.0 | 10.0 | 25.0 | 30.0 | 55.0 °
A g |10~[15~]22~]20~[27~]34~ g
14.9 | 24.9 299|299 | 369 | 439

De9 A|B|C|E|F MXP T
k: MXP 4 | | 6.5 | 3 5 [M 25X0.45| 45
45 7 |25]16 5
S| smp 35| ° M3 X% 55
| 55 2.2 6
6.5 10 |4 25|5 M5 X08 | 7 Z3
3 o —0.025 9 2z
F 8 | _goer|13 |5 |3 |6 M6 X1.0 | 87 @ @
10 16 10.8
. 12 17 6 |4 |8 12 (M 8 X1.25 128
g 13 |Z0%217g [ [5 [0 | 16 |M10 X1.5 [14
%MSB T ([ scM435 16 24 10 |7 [14 18 [M12 X1.75 |17
3 maxforD12 - 13 . [ 33~38HRC
35maxforDie-20 | | K2Z5max T (spength rank 10.9) 20 |Z009127 4 |9 |18 |24 M6 X20 (21
Part Number L U/Price
Type D 1~19
4 15 20 25 30 35 40
10 45
4.5 15 20 25 30 35 40
) 10 45 50
5 15 20 25 30 35 40
10 45 50
5.5 15 20 25 30 35 40
} 10 45 50 55
6 15 20 25 30 35 40
10 45 50 55 60 65 70
6.5 15 20 25 30 35 40
) 10 45 50 55 60 65 70 75 80 c |
15 20 25 30 35 40 45 07
8 |10 50 55 60 65 70 75 80 85 90 = i
MSB 95 100 110 120 S
15 20 25 30 35 40 45 50 55 oL
10 60 65 70 75 = |
10 80 85 90 95 100 110 120 0 i
15 20 25 30 35 40 45 50 55
12 60 65 70 75
10 80 85 90 95 100
15 20 25 30 35 40 45 50 55 60 65 70
13 75 80 85 90 95 100
10 110 120 130
15 20 25 30 35 40 45 50 55 60 65 70 75 80 85
16 90 95 100
110 120 130 140 150
20 40 50 60 70 80 90 100
110 120 130 140 150
‘PartNumber‘—‘ L ‘ ‘ . **(FC)
Order MSB10  — 50 Alterations MSB10 — LC50.1 — FC10.5
=
Wlaagﬁip Quotatlon Alterations |Code Spec. 1Code
—F Changes the length (L)
‘ | LC tolerance +0.05
) - —~| LC |Lmin.=LC=Lmax. 0.1mm increments
|P Price Quotatlon' 10+0.0§ ‘ (® Dimension F remains
| L Use FC alteration to change it. @7
g 8
<]
Application for drawing back the slide core (used together with a spring) E‘J: FC &“;“é’g;t&";“g’ea‘égﬁﬁiﬁﬂfgmems 37
ex Example 5 (®3=FC=7.5 only when D=4
- ‘4‘ (®) Available only when LC is used.
FC
(® Spacers for MSB Shoulder Bolts (VSRB) BE" P.1195
@ For spring specifications BE P.1225
CSR ® For slide core stop block specifications BE" P.659
MSB - MSBL ® For angular pin specifications BE P.609
—I.I ol @ For slide core specifications BE P.639
_
SW B¥ P.1196
1192

syog



